[ PROVISIONAL ANSWER KEY }

Name Of The Post Assistant Professor, Physics in Government Arts, Science & Commerce
College, GES, Class-2

AdvertisementNo 90/2018-19

Preliminary Test Held On 04-08-2019

. No.
Que. No 001-300( GS & Concerned Subject)
Publish Date 07-08-2019
Last Date To Send 19-08 -2019
Suggestion (S) e
Note:-

(1) All Suggestions are to be sent with reference to website published Question
paper with Provisional Answer Key Only.

(2) All Suggestions are to be sent in the given format only.

(3) Candidate must ensure the above compliance.

(1) GREAR cllul-yAsll %Y sl A2 U YR A R otysilell GUAlaL s,

(R) GHecRIA Wdlal uleundli 1A AR 3ell UsyRASIHL HWAA Ys sHLS Yol cdltll-YUoll
% ol 5cll AMIH citl-YAoll dotse UR YRtY YAd WAXBelcd BlodR Sloll Usl sUis
Yool ol A AeelUl Y s2cl

(3) GREARMN G5l YUollo] WUYS UlGol 539 oAUl cAltl-YAoAl 3 53¢ 1Al tlla
Aaud «igl.



001.  AUJFE HAHA uAA uFe oflaw 51U (Hells) BuR ude glrLal dd, Wi i §Al §20 2 YER MRASIH
sal, DA UL 56 HRA5M sal Gers@ e ?

(A) 513112 MRAsH scn @ il s

(C) Uonoll a1l HRASM se (D) Guu U4 51 =l
002. A4 sy [ R AlRs 2gld suotd w2l & ?

(A) 382 Vi B[EUFURA A6l AR HSIUS 53l AdL Sl

(B) dHIH AR 2U3HL 22Ud 284 8.

@21 uuR ARaAHl Ul Sl 214 Q-1 LA GISIR SAHL UAAL Sl

(D) (5t Uid 42 821 (2an) Hidl s ag Usd, BHI HIGBR (Hidlg 880l AHIDA Adl Sl
003. 8w Azsldui, Srellud x4 Halw2[Run Asla- ga-uni g [alkre susid ¢dl ?

@ s12vi8u dR1adl 1212 - (B) AR, (Aana) slag auun
(C) {2 (D) 9123 a2l

004. DA UL 56 3a 208 (st Q) [Asin 8 Ak el ?
(A) HIRAE (Marle) (B) tu2L (Bagh)
(C) usiolayy @+

005. A UL 55 AL viidl Ad oAb S ?
(A) sasdl — e (B) sRYd — wisuea
@ — Rd (D) s25 — Grruga

006. 5245 cudlu [QuraRll 25al 2 d-il arasimldwe s 2l salda 6, 3 A5l 56/52¢l A4
12l {d A ?
1) ylAara@n aueuun (Pakshilasvamin Vatsyayana) — -4
(2) MauRAwLeL (Prashastrapada) — Qailas
(3) A — UL
(@) tisd — dgid

(A) 5121 2 (B) 55d 2 211, 3

(C) 554 3 ¢ 4 @1,2,3»4
007. DAl gl 1008 gL 11 A AL

ael I el I

a. Auw Udx 1. Yl

b. Aaauil Yd 2. Hirell

c. ReU¥d [Aan uda 3. aslexl

d. gl [Qa dax 4. AisAR

@a-2b-1,c-4,d-3 B) a-1,b-2,¢c-3,d-4

(C) a-4,b-3,¢c-2,d-1 D) a-3,b-4,c-1,d-2
008. U125 “dHIHI HuA SUL AGE AURAAL S ?

(A) $1& (Fad) @< (Vag)

(C) ~uga-l (Natuchani) (D) Qluét (Gavalan)
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009.

010.

011.

012.

013.

014.

015.

016.

e N A

A0 w4l <A’ Al 208 WEl ‘B’ AL A3 51 Al

A B
a. 3idL 1. weR
b. GiuAsisl 2. Wi
C. ¥Rd 3. |l
d. st 4. gicll
(A) a-1, b-2, c-3, d-4 B) a-4,b-3,¢c-2,d-1
(C) a-2,b-1,c-4,d-3 @ a-4,b-1,c-2,d-3
9l sUL slAq Arl WaR LS Hete A1 iviluA 53 o ?
@ »ae dauell (B) a4 Rud
(C) Gaais: ol (D) la-na cnu
o A ani- R erndL su1 Ry BuHui A v S ?
(A) slast ®ldun (B) 529 ®Y[Hun
@ 5alRs a ¥yHun (D) A, 4. ¥yfHuu
a8 21 Al Qeuson ..., A ANAA 6,
(A) tygale (B) [3-glacue
(C) Brae @ Gu-u U4l daum

A UA 56 AL / admint WAl st Al s8R 2ulEsn wigian 08 e €9 ?
§)) Sflurt -ued 2ua-ud Hut (Indian Natal Organization)

2) Seflun, 210l Hlux (Indian Opinion)

A3 ldus wlds: 2u-ud Han (Passive Resistance Organization)

) fl S=flun dloy (The Indian League)

5) Sflurt (W22 (Indian Mirror)

(A) 541,331 5 @s511,201 3

(C) $5d.2,4 1 5 (D)1,2,3,4¥4 5

D2t [l WAL “Sflunt Raria 200 onoid 3 / sui [t i 6 ?

(1) G 9131 Aiglart [Rrsn o ugdl d-l 20 a4,

(2) INA -l [Q2u2 -l seusil U2 HARIHE YAUNRDG 6112 glRL sAUHE 2ud).

(3) The INA 2ui-los 204l gr21 Gefl s2auni 20l 211 cuRda-dl 2umel YHl 251 2uuaHi 2ucl.

(A) 541,291 3 (B) 55d. 1

(C) 554291 3 @15 v Al

R snasasi Gralsdl ya ............ Sdl.

(A) EIHD T @ I

(C) vida (D) HESIR A

103 M1l el 2 ALENAL UARRL UL AU VAL AL UAIR /3 Al You (Core) (AR ... Sdl.
@211, U i, AU (B) 21%3el, A% 244 YN0l

(C) AoRel, Uontt 4 HAME e (D) A2RAel, HLAL 27 Yonod
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017.  HeHe 6oL 3 il AslAus Al otdl 21 dg Yrt: UHSRWL ... sy,

(A) Sladious (B) Ay
@ HRA510UE (D) HHEWAE
018. 195741 daud-il a2l Ml AU LS A $AU, ATELAAU WAL ... Sell.
(A) AU S1AA U& (B) 243 2adA ual
@ HsR1d Fdl uRue (D) SURLE A Ad LA
019.  “URen(ER1%’ g AU [Bi3e €KL 52U UAH AAALAA ............ Sl.
@ (Q2u4 2a gl (B) $01L cUELAL
(C) QL MANE (D) [4R qaq aiean
020. ARl YAl eiigR Wl gHy WA a8 ... UL [Qaaaid/nsue- sRel as.
(A) 3rAHVUA (B) sxtvitrt Haudl
@ 31lvur (D) 9w

021. DA A sy [/l i 8 ?
(1) 19344 U3 HeHis waldunut 6lsud (Breakaway) A8l i3l widl a3 53,
(2) e HisH waldue 24 dAidleo-l gladisn: anan-l ugiu 1 $3.
(3) 2l Ws3iA1Es AL AHA AL
(4) Y 2l (Pact) ~u e sid aslo sHmAA “oildesiz AR 5 21512 wat 4874 e xtu-ue,

@1,2,3+14 (B) $5d 1
(C) $5d 141, 2 (D) $5d 1443
022. Da-uid............ MIRAHL i Qe sima s dRs €i9) .

(1) 1831 il AR is2
(2) %A s viis uscls S-25- - 1823
(3) Wy (cen 241 2i312 -l [Qae (Oriantalist and Anglicist Controversy)
(A) 55d 124 2 (B) $5d 2
(C)$5d 131 3 @1,2»13
023. 1A oAl UL 56 oAdl el d Asia © ?
€)) Sl-anan (Ho uprising) — "\tﬁd A
2) andla Aigian — ulls Aigian
(3) A2 (Tebhaga) 2Aigidn — 21561 Aigidn

(A) 554 1 @552
(C) 55113 (D) 554244 3

024. DA UA s cudl silasiANA “si50 251 G2 sA Ul FadlA QAL L Sdl ?
@ 2isAviR 2URE (B) A2
(C) A%+ alld (D) ARa5156eav
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025.

026.

027.

028.

029.

030.

031.

032.

-

2l [l WAL sy [ i © ?

(A) URAN 3L Aoyl A1l araugl well-u [Asiaaoll odlqul 244 Gy eioraion Gwa sRoitui x4
Gu-Guas(2eigni cuonud wy 9.

(B) GURdH] 281+l siouad vidl Aman uu-l sieHyon vilay (Vally)Hi a3 as.

(C) 231l 51314 (Cardamom)ll 2531240 BuR WL GRNAA SAUHL 24 €.

@30 & -1 WA 53423 (Fermanted) S €9,

Dalen WA 56 onlani 62 2ul3s dlsi-u Ay-uzu [Alkve wRAs azwel wlalalbid au € /A 1 6.

(A) t1R3L @ (Racel

(C) Hla ELIEN

D2l WS 53 / sl G A% AyRul Gwa sRo{y Al 2nady 4l ?
(A) 32e i dlRa-ig (B) sQu2s

@2\ (D) 2AAIUULL 2 HSIRN

QU WAS =8 Sl HAL-sUSHELS A 7 (A1) U2l 2uslisal A [Acud 2y gd. A1 Uil
sl A d gl el

(A) Grz ulau {3 (yps) (B) Grir Al

(C) elaa Qg @ Gu-u U4 518 )
Daleu WA s/sui [ viei o ?

(A) e &4 ARIAS [AciRU $5d 11.04% %24 45 N8R s34 .
(B) 2121l art [A2ei2 ndlu a2l vivro 1A €9,

(C) bin (A) 211 (B)

@A) U 5 (B) uwt 1l

(Rauicuou vidusi (gangetic) Hetwl, Aorcuoll sustisar, 244 2w ay g [R1m Gl diusi-u aael a3
aelaaii »1d 8. 2 e W A UL su1uai-l Al Aledl ay w450 6 ?

(A) SR 21 sWA (B) 4G 244 2 (Jute)

@32 A1 A8 (Jute) (D) 46 11 s

¢l 2lcll 2UAR (The Shola grasslands) ............ ui w9,

(A) RBwax Qttl'{ de+ &2 (Southern Western Ghat)
(C) [dru (D) ydene

gl Sl 222 iis 1322 Ui (ISFR) 2017 - e A1 WS 53 [Qary/[Qan-l i & ?
(1) 380 Ul [Adi-u A HiRaHE Al ay e (AR vud 9.

(2) $& ARR(as (AR Aesd 2uadl dada % (ARl estadlul cuddi Motmul Aldl ay
Fael 6.

(A) $5d 1 (B) $5d 2
(C) 14 2 601 @1 ua e 52ua Al
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033.

034.

03s.

036.

037.

038.

039.

RURAML AU UstRL Ae UL A WA sd/sui [Qa-/ (A i 8 ?

(1) Gua s(20iHlu ALI8IR FAAL, AMEL FAAL UL sScuu .

(2) MURAHE v 5304 [deumn Fenal vradl 6w sRoilBu wnwr Fadl .

(A) 554 1 @s512

(C) 1212 (D) 1w A& 52 v

(aa8 usR wigsi-l suetd DA WA sy)/sul [ i e ?

(1) 2iaa 2 st W2ilis vsst dls oellda 8.

(2) BN4d W3St (Sedimentary rocks) 23U v3sl ddls 2y 69,

(3) U3, A2 w1 sUERHS2 (Quartzite) 3uid (Metamorphic) Y3 Si-L USIR €.

@55 1212 (B) $5d 2 211 3

(C) 1,241 3 (D) $5d 121 3

2011 -l aredlowisfl yoror Ala-u W sul el Alell Al Asu Al 4 © ?
(A) "HEL @ uirvicR

(C) awd) (D) %1218

559Ul GriREURAHI AR 53 AR 2uAY & ?

(A) iR (B) Y2401

(C) 243N @ 13U

A2 WA 5y [Qeuy/faaunl /el 6 ?

(1) artoiy seuR Al Hua-ll-l e HaL sRsH adls uaL sinvua 8.

(2) artviy seueL Alo-u-l 25l WSl 15 2i0 a8l [Asiu ua 8.

(3) AHIH B UHIRAAY/GURHIA] 2L 24 RaTiiy s dny 22l AU 2L Al 244 6 8251 .
(A) $5d 11 3 (B) $5d 2 11 3

(C) 851 1 @1,2x13

2 URlL (Reserve Money)Hi -l U4l suu -ueu GHcuui »udd Al ?
(A) m&g&%mi A8 (Currency in circulation)

(B) 22, ofl, 20, WA sirs-l Buiflea

@ oi-st Wl R Ruiflex

(D) A1+ 2u2.00l.208. wAHl Ruiflea

e UL suL “Old-u 25 Q2L 8251 69 ?

(€))] s1dWRwa sflea ;l*%iﬁ%f (Financial Capital Transfers)

(2) tU&L (External) Aivl A A58

(3) [agell 2ianflu A5 (Foreign Institutional Investment)

(4) UEL (External) 6ll~3 $3 524l

(A) 550 1,2 91 3 (B) $5d. 2,3 21 4
(C)$5d 1,2 211 4 @1,2, 34
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040.

041.

042.

043.

044.

045.

046.

047.

048.

MIRAHE Y 2.4 UL (G.D.P.) A2 0812 A 2004-05 Gudl a ............ BuR FRaqui/ aSyani
2044 8.

@92011-12 (B) 2010-11
(C) 2007-08 (D) 2008-09
FAME ®12d 9%l (India Scheme) ............ Gaeudl A3 sauni 2uda 9.

(A) €16415L A523A tiad) 241 Griogt

@i S5 33l augl A G

(C) W [AauRini 2022 YH) [QAoryasl yi wsarl vl

(D) 8¢ (Sl 21254l 20 M8 Hsd sl A Y wdlA Hee sl
Daleu U sul Jamy w2l el ?

@13 clitsIHAL WA

(B) A515] 2al Gu+ll ey ysasil

(C) ARS1Z) BLALBALAL 1LY, AALEA-/ 5141 (Funding) WIS Adl WA
(D) Gu-1L U4 4185 ]

D2l WS s/5ui Wl Ase B’ ) Aelui 2ud © ?
MY @) wuddHRH A 3) [RQEma  (4) weulys oy

(A) $5d 1,2 21 4 (B) $5d 2,3 v 4

(C)$5d 1,3 211 4 @1,2,3,4

-, 5 Q120 @A DR A4 i e s © ?

(A) 1Ra Ssiidls A B) BNed 4z 4 Grw-i/eiedl

@) FRBM 524 YRl (D) Y3 (Renewable) Gofl #til atud)

-

“fedlun uize U2 oies” AL Ae el DA [l WA sy/sui [ el o ?

(1) Ud~2 oi-floL Aal A3 $7UR S-8lul ulze uaH U513) A (Organisation) €.

(2) d AlSAAL 2 AUrlL G2 HSTH 3L 1,00,000/- (35 Qi) Al als 2udl a5 6.
(3) 100% 25151 HAlSlHL uodls A2 Surl adls auda 9.

(A) $5d 1 (B) $5d 2 %11, 3

@ 55412143 (D) 1,251 3

QURAML A 1881 Hi WA uRdlul g1 AAUAA, HallEd gausigid] awll uay sies ........... gdl.
(A) Rrgadi siuRiua ties @ A\4 (Oudh) stuldlud 6ivs

(C) U2t Hawid bivs (D) Yoatt w3 Ry Girs

Ay 201841 A 2ualdL-L dl2R S-38 (Water Index) Hi -2 A%UL W4 U1 AU N2 AU
(Water Resource Management)Hi UYH 1A (Ranking) dnda 69 ?

(A) deidueu @215

(C) U8RI (D) HeuMea

MURAML US51F] AAHE vid Ugiell W2 ALY sau s =l ............ 8.
(A) NEFED @) NAFED

(C) NABARD (D) NAFI
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049.

050.

051.

052.

053.

054.

OUA 551 8181 HI2 AU 2L AeiBd, DA WS sy /51 [@Qen i & ?

(A) d AR (Statutory) A/2AsH €9,

(B) d 2007Hi WAlH-2 gIRL SIUEL 8501 HIIAA WY, (Set up) 6.

(C) SAHL BUNSIL 8551 818L, Gl A sl WS 69,

@ GuR-U ey

CIRAHE A afis Aygn 0l aglanl £0ol Hirddl 2rusi 04 dl, g AR50 e a8 ?
(1) A2l vu/lalre Aalas a2l 20l 25 214 AAaq 31 as.

(2) Ax2uld 2ud2UU (Automatically) ALSAMIHL AU [AYsd 52 8.

(3) A2l na=-L 15 H&L WK, 2006’ (PM’s 15 Point Programme of 2006)Hidl cicil Hadll
as o,

(A) 1,294 3 (B) $5d 1 914 2

(C)$5d 2013 @55i1613

A2 (Al WA uuci suod s3/sul [ i e ?

(1) AuAML AU 22 [Rdi wlallEa 53 8.

(2) APUAAMIAL AU d A%AAL Rl Sl A2 § Fuidl d Yiia i,

(3) A%UA s1aUHl 2adl AU Gs 5L Avat d-l adli uHRL Yoo Sl .
(4) A%AAMLU AR Hed, YA, Al Adedl iR glu 6.

@5512,3%1 4 (B) 5 1,2,3 ¢ 4

(C) 551 1,3 »1 4 (D) 55144 3

QIR AL GIHIRRLAL MZHHUL, €35 S GURAAL URARS 2RI, 5 % HIRA SAHE QUL S1Y A ... .
(A) % MR ABUAAHL Y~ HAL 81U [ Sl

(B) 2424 -l HLALUdl GURAHE %-HAL 1A /8.

(C) B4 AHIA Td IR, APUEAHT HUAL GTHIRQL A AU A% 22U+ Uid A 5 249 [
decl aHud) Al iU,

@ Gu-U duH

A1 WA s/sui [Qq i o ?

(1) bitReL 214269¢ 338 ArZ\U 2[Rt oAl 2naiondl 2eusin/aqn 118 A3 €.
(2) AL AP wmld uaion 8911 vitnella YHIRA S1UEL 860 AU 20031 2N 8.
(3) A Hlda 2uAldL 24 vitelly 2154 (Constitutional Body) €.

(4) agmlaxil 112 Al 2010 2 AURs s (Statutory Body) €.

(A) $5d 1311 2 @s511,2413
(©)1,2,3,4 (D) 553 %11 4

A2 UL 53 512 A% Hirta AR 20100 o 12 el ?

(A) Sl Hindla 8551 28R

(B) Hirid 8551-1L AsML A2l Gy

@ 55 v Hidla 21[A500 e Yflad 2ulls and

(D) Guu U4 51 )
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055.

056.

057.

058.

059.

060.

061.

062.

-

aLHH ‘@adt olld [ dlow’ (PMIJBY) 16wl s12eell 284 Yeyd 2098 A 6 xd d ...,
QU AR AL ALSIA WL €9,

(A) 18 4l 60 al (B) 18 4l 62 adl

@18 Al 50 anl (D) 18 4l 65 anl

Daleu [Qan-i WA sy/sui [Qa- i e ?

(1) 3L oll.2UR. 2i6i353 3152101 5[RA N AHA L.

(2) FAUSR ALA 183 A8 titnRel 5[ME (Union Constitution Committee)wil A4 Sl

(3) AREIR w2d ulanna simre sME (Provisional Constitution Committee)-il AU, gdl.

(4) AREIR u2d A% $[A2) (States Committee)it AU sl (AL W Areienet sl s@al)

(A) 85 1,2 (B) $5d43

@554 (D) $5d 2

MIReArL GLHIREL ANAQL, GLALACAL AR 8L S 51 UI2IE A €9 ?

(A) MRl A3MHLL @ HRa-u 2uld

(C) Yl 512 you B (D) il e w115 S-flan

D2l W 534 Ul sralad (PMO) 8o s1d el ?

(A) Sludare s ziAs 214 (Department of Automic Energy)
(B) Sun-e viis Wy (Department of Space)

(C) Rand [Risydl 516(-=1a (National Security Council)

@ Gur-u U4l 5i8 ]

AlsAMYAAEHL N8R [Ru01 AL A4 A2 WS s [AHgs 2ud © ?
@ clisucuu 2052 (B) A2UAMIAL GU Uyt
(C) MRAx Gu eszuld (D) GURcd-L A3MHLA

A1 AA s yesd 2E SR G ARURSIHL B[RS @anHl sine sa1sueid siel gizl AeilEa s30
GualdL U €9 ?

@ 4 Dadl-l 855 (Right to Life)

(B) <Al 855 (Right to Freedome)

(C) AMAdirl 855 (Right to Equality)

(D) oirRelly Sl 855 (Right to Constitutional remedies)

‘sl A2 (Fly Ash) ) suetd A1 U5 53 / sa Qi 069 ?

(1) d stal ol uEunifl gedl Gau adl x5 ueia 8.

(2) d A1y A s14l2 siruaal QUL WEdrs Ru-e-L 21005 $61ed (Replacement) ddl3 aud 9.

(A) $5d 1 (B) 55d 2

@1 21 2001 D) 1y «lE 52 vl

AlRHINHUL YU 524 5L ASIHL, HIEL Avuini gedl a8l Guast (xaan Ag) ........... 97
(A)5 (B) 16

@63 (D) 17
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063. N WS 58 ulZwdl wellory sieiq/siaxl wa ¢ ?
(A) 81351 U 5l Gedwd-/aia-Gadl (B) sctiri, A2t weellAai-u 8135t incugfl

(C) wellAi-fl a6l () sincud @ s-u 200t (A el s13st slandl
064. ALY d AMAA ... CTRTURS
(A) M2 (Uterus) @ 3 aidluq 2301 (Fallopian tube)
(C) uldsu (Cervix) (D) ARl (Vagina)
065.  NA-UA 5 sustd AAAa 2R saAldlél S-3& (National Air Quality Index) ¥i amUdw qda 2l ?
(A) A¢$R (Sulphur) (B) Szl s1sA1S s (Nitrogen dioxide)
(C) Ay (Lead) @b (R (Methane)
066.  AlAIARQAMT AEVUAALY, dRd (Floating) d-il uay/-al ............ 48 6.
(A) G @ 41l (Density)
(C) sbuRt (D) 334/d3L (Velocity)

067. SISV sy AR Al52 WA vis SAsIS Guswll AL ASA AR SIS ... .
(1) d GuseiA gsoun 53 a5 6.
(2) ag usdl AR 5128 83y walom gsuq as a5 6.
(3) BuswA Ayel aiee 1l &

(A) 54221 3 @552
(C) 142 (D) 1,294 3

068. N U4 56 ugld — Situ method of conservation (582l uauia-l sl g ugld *e)Hi
8.

€)) QARG HAS (Biosphere Reserve)
2) aruld i @ddl sl (Botanical Garden)
3 el A2 el sRllal (Zoological Park)

@551 (B) $5d 1 244 2
(C) 8541313 (D) Gu-L U4 418 (&
069. gl Al ay aucrs 1 [Brandl B nn aaian i oad ............ 8.
@ > \[2ds R (B) ¢uRdld Q1@
(C) W43l (Black Panthor) (D) Rl (Leopard)
070.  yedld >uym (Age) ............ Al viel s e ?
(A) $16i 38121 (Carbon dating) @ 33 (Runm 301 (Urenium dating)
(C) 1254 5454 (Atomic Clocks) (D) suAAD 54 554 (Biological Clocks)

071. ‘@’ AU (O’ group) - et Eldl SR 52els AR YRAUA Eldl’ 58 8. SRS ...........
(A) aldluiqu 2fas dari-ll Gy (Lack of Antibodies)
(B) i B\, v, AL 2 (Lack of both antigens and antibodies)
Q;t'él@":é{"ﬂ Gaw (Lack of antigens)
(D) idla-u-ll s1ordl (The presence of atigens)

AIR - MASTER ] 9 P.T.O.
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072.

073.

074.

075.

076.

077.

078.

079.

080.

Da-u [ 4 sy/sui Qi Mo alsa’ (Anti Satellite Weapon Systems) . buetd 21j/20i € ?

(1) yedfll laell aimpisen (Low earth orbit)ui WRsHL 53] 28 & GURA BuALH ALl Waumi 2l
Sdl.

(2) Guas yedflefl 212R 300 km € ¢l.

(3) didl usida cudly Guas 5 % IR SHAL A2auT2 (RIS-14) dl.

(A) $5d. 1 @551 122

(C) 8542 41 3 (D) 1,243

“odiond I S+3a1 2019’ 1iAL 163 22 WA MR ... HLsUis Gu .

(A) 161 141

(C) 121 (D) 101

20191 ‘(A 5dgin [Baw’ (The World Blood Donor Day 2019) S ERD (Theme) .......... ¢9.

(A) e - Y adl (Deliver the happiness)

(B) $iM2 - oflo-il 2wl Y2u $20 (Fullfill others dreams)
@ UAHA 5 A< 112 (Safe blood for all)

(D) AAHA 5 DaH ol (Safe blood save lives)

5% A1 (354 1y dud syl (Defence Space Research Agency) .......... viid AL Q{%ﬂ
2 6.

(A) VHELUE (B) x14R1adl

(C) Hiwa @4\°143 (Benguluru)

AR ARML ARAI BN A 2u-dls 2l Anda 9, DA UL 54 Yads d2il g1l quuda - ?

(A) A3l S~ (Shadow Lines) (B) DY RICTEIRVISHY] (The Glass Palace)

(C) 4l €3ll 283 (The Hungry Tide) 2{1 2§15 a3 (Sea of Blood)

MHIRA A5 aHH WR S Nand 9g @ Al .......... el ug wsal 58l 524 9.

(A) 2020 @2024

(C) 2026 (D) 2025

dlad vitd AU 4201 S22 R[FUN’ iriladl HIRd A$13 <. A1 AU 5L 158l 534 69,
@ (B) v

(C) 5131 (D) Gel 2R (G

ARB3UA $12 *Rd - VI HIRRL, (34 dts-l (Two wheelars) 12 $34 sl 2udd 8. A su-dlil
U4 S uan Hua-ur sudl 9 ?

(A) YBsl Hied @SR HizR s
(C) 1on (D) Aud AHAlE
AlB UL FA6YS GIRL AL~ $AAY “confetti” o & ?

(A) oL w2 «dl Ay (New App for chating)

B) [@flal sieloy w2 Adl iy (New App for video calling)

(C) 5™ 3513 U (Face Recognition App)

@ Sr2353a ASH Al (New Interactive Game Show)
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081.

082.

083.

084.

08s.

086.

087.

088.

089.

090.

GURAL AR “SIa-llAIR RYBUH” o Beane Yra-llsll [oru eud guellz oppudst .......... [yeanni
5349,

@ H[3u012 (B) 3id1
(C) brruasisl (D) AR 5161

IR U512 GIRAL WS Bewler 2018-19+1 A3 el Yoror, AL wist USL su1 o wsld Hiaust
Bewlgr s W ?

@i 21 a6 (B) wasull 244 swin
(C) usts v wasll (D) sW 2 A4

Al v[@A-0l21 WA 518 “Danny Kaye Humanitarian Award’ dell-u sunseui-u &xni [QfRne
AloIEL W2 Ylas (UNICEF)Hidll dnda 6.

(A) 2uldu Mg @ B AL

(C) Rdlstugsial (D) 5311 4R

AZARHE “Hl 3 21U 2019”51 1314 2 Dl ARl 20 [Breot ga szl ar ol ?
(A)10 B) 11

@12 D) 13

AR ARHE MR YRl Adat gL ‘A’ (Chaukhandi) U AU A MRS - RS dLl3
ANSR SAML UAA B, UL QM. ......... AUHL 2044l 69,

A) bR (B) wllAd1e

@GR Ut (D) i ue2l

12 WAL sul [Aseu eusl A [dseul 18 oiy oludl -l ?

(A) DB (B) u1¢s

@3> (D) Aol

25 arl uddl P 21 Q +ll G-l JRITR 6:7 edl, dul 4 av ugl d 7:8 a3l dl Q Al sia-dl Gur 52
sal ?

(A) 38 (B) 41 i

(C) 43 @ >0 A5 uaL Al

ol s+l (o 3:4 L ORUTRHE 241 dHHL GASHAL 5 :3 L IRUTRHL 1Y dl d¥-il A5l ARl
sedl a9l ?

@ 15:16 (B) 16:25

(C) 5:4 (D) 2uHid, 25 uaL Al

2l siellal ((2) A e g 2uaa?

2,5,10,17,26,37,(?)

(A) 49 @50

(C) 51 (D) 2uig s uRL il

25 Ai3[As Gumi INDIA’ Al 518 CHOCJZ? SiA dl ‘CHINA’ -l 513 sl 4l ?
(A) BKHMZ (B) BIHMZ

(C) BLIMZ @i 25 w1l
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091.

092.

093.

094.

095.

096.

097.

098.

099.

100.

N

25 doiug A5 198 ALHl Slu da d-l 248 ugd 1w 18 Hl2R i dl d-l uRRlA s2dl 29 ?

@58 Hl22 (B) 36 Hl22

(C) 29 {12 (D) 2uHid, s uaL il

25 A 90l a8 A R 581 “drit it tug W tud i Rar e, di d 20 Rdadl sio sl ?
(A) 818 (B) Wzl

@ a1 o1 (D) 2uHid, s uaL Al

25 adn-il uRa 6 A4 Sl di d adnd Aasn se¢ a9?

@B 9 . Al (B) 127 LA

(C) 15m Al Al (D) 2UMir 25 el -l

w5 Hizeliexl Ra2 wellmi 3w 12 Bal/sans ©. d uasl [Baumi 45 (3l 2id2 sidl 3o 214 ud 3
69, o dd AUMA Y15 HI2 A 8 55 ARLAL SIA dl sl 33y sedfl wal?

(A) 2.4 Bl/scns @3 (3+lscas
(C) 4.5 [5+l/seus (D) SUHig, 2i5 w1l

3.7 A0

75 [3l/5cus0l 33U el 2is 21 HUs YA UAIR el 68.4 A5 AL 8. oA 2l densS 1200 Hle sl
dl ya-l dons s2el sal?

(A) 180 {122 (B) 210 22

@225 Hle: (D) 2uHid, 25 uaL il
31. 30,000 < 2 Al AsqlB ey 31 4,347 i dl uHil € s2dl sal?
(A) 3.5% (B) 4.2%

(C) 4.9% @ >unie, s uaL il

-

A 2 20 21 3 wRallHl [3Hd 31 3,450 Slu, da 3 2614 24 1 R0l [31d 31. 3,950 <iu dl 218
2ol (31 s2ell a9l?

@D 3L 1200 (B) 3. 1250

(C) 31. 1350 (D) 2uHid, s uaL il
15, 242122 19701 (B sul AR &di?

(A) AHAUR (B) Adar

@ 2[R (D) 2uHie, 25 uaL il
(Bud sl : (1331)-3)

(A) -1/121 @ 1/121

(C) 111 (D) 2uHid, 25 uaL il

100 [QenflAi-n 2is adiui 34 [QenellaiA [Asun [Qua urie 9, suiR 46 [Qendlziiq auBid Ay vaie .

oA 10 [Qenellid oiq (A uRie siy dl ol WS visunl [Quu vaie - sid da [Qenlai- v s2dl ea?
(A) 20 (B) 26
@30 (D) 2UMir 25 el -l
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ﬂ
101. In a relation expressed as P = % ext, P, y, k and T represent pressure, distance, Boltzmann

constant and temperature respectively. The dimensional formula of § will be

(A) [LOM1T1] (B) [L2M~1T?]

@|’m°T1] D) [L3MOT 2|
102. A field is said to be rotational if

@curlA=0 (B)divA # 0

(C)curlA =0 (D)divA=0

103. A unit vector normal to the surface z = x? + y? at the point (1,2, 5)

2i+2j-k 2i+4j—-k
(A) 2 @+
2i+2j-2k 4i+4j-2k
(€) + =72 D)+ =75

104. The electric field due to a point charge Q is expressed as E= Q—fz then the divergence of

4mEQr
electric field due to that point charge is

(A) 41t§0r2 (B) 4:§0r
(C) One .Zero
105. If an electric potential is represented by V(r) = r™, then the value of V.Vr™ is
(A) m(m — 1)rm+2 (B) m(m — 1)r™-1
(C) m(m — 2)rm-2 @)m(m + 1)rm-2

106. The skew-Hermitian matrix among the following matrices is?

@; ° ® % ]

—i
o[y ®f ol

107. There are m equations in n unknowns and then their corresponding coefficient matrix A will
be of the type mXxn. r is the rank of the matrix. If r = n, then equation AX = 0 will ha

(A) Infinite number of linearly independent solutions
@) No linearly independent solutions
(C) (m — r) linearly independent solutions

(D) (n — r) linearly independent solutions

108.  The Eigen values of the matrix A = [C‘_’Se —51“9] are
sin@ cos0
(A) et3i0 (B) et2i0
(C) e* 310 @-:°

AIR - MASTER ] 1 P.T.O.
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109. The independent solutions of the equation —+6 + 11 — + 6y = 0 are

(A) i x?% and x3 (B) e¥, %, and e3*

@ e %, and e 3 (D) sinx, sin 2x and sin 3x
110. The Fourier expression for f(x) = x in the interval 0 < x < mis

, 1, 1, , 1, 1,
.2 (smx —5sin 2x + 3Sin 3x) B)2 (1 —sinx —-sin 2x + 3Sin 3x)
, 1, 1, , 1 1,
O 2 (1 + sinx — 5 Sin 2x + 3Sin 3x) D)2 (smx —5cos 2x + 3Sin 3x)
. 1

111. The function T2

(A) Is analytic in the region |z| < 2 (B)Hasapoleatz =1

(C) Has an essential singularity at z = 1 @) Has a branch point atz = 1
112. The integral of Z along upper half of the circle |z]| = 1fromz=—-1toz=1

(A) —2mi (B) 2mi

@i (D) mi
113. The locus represented by |z — 3| + |z + 3| = 10 is

(A) Circle .Ellipse

(C) Parabola (D) Hyperbola

. _2m de .
114.  The value of the integral I = [ @rbcos gy here a>b>0 is
2ab

A Tt ®) e

. 2ma (D) 2mb
115. The expansion of the functionf(z) = Z—i in Taylor’s series about z = 0 is

@-1+2z-22+22-24+) B)-2+(z—-22+23-2z*+ )

€ —-1-2(z+22+23+2*+ ) D) -1-3(z-22+2 —z*+ )
116. The Legendre’s equation among the following is

_ _a2\%%y dy 1 =
(A) (1+x 2x +n(n+1) 0 ®B)(1—x St2x-+nm-1)=0

d? d
.(l—xz)d—;—Zxd—z+n(n+1)=0 (D) (l—xz)d—é—xd—z+n(n+1)=0

117. For Bessel’s functions J,,(x) , which one of the following relations is incorrect?
(A) () = (1) (%) (B) 2 (x) = x(Jn-1(%) + Js1 (X))
@2/.(0) = (Jn-10) +J41 () D) ' =1y, = X i1
118. The Hermite polynomial H,,(x) can be expressed by
(A) (~Dre ™ (e @-vre” e
© (-Dre” (exz) D) (D" te (e
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x y z

119. The determinant of the matrix |x2 yz z%|is
Xy 8
@y x-y»)-2@z-% B)xyz(1-x*) (1-y*) (1-2%)
©Cxyz(1-x)(1-y)(1-2) (D) x*y*22(1—x) (1~ y) (1 - 2)

120.  The solution of the partial differential equation(mz — ny) % + (nx — lz)g—; = (ly — mx) is

(A) xyz = f((x - Y) (¥ — 2)(z — X)) @+’ +y* + 2% = f(lx + my + nz)
O A-xA-y)A-2) = f(xyz) (D) x*y*z* = f(Ix + my + nz)
121.  The partial differential equation =% + 4 2% 4 42°% _ o §
. e partial differential equation _— 3xdy oz = 0s
(A) Hyperbolic @ rarabolic
(C) Elliptic (D) Circular
122. The Fourier transform of e_bxz, when, b > 0, with the kernel k(s, k) = e's*,is
SZ S2
e4b e 4b
(A) = B)
SZ
e 4b e_\/_E
@ D)=
123. The Laplace transform of sin?bt, when, b > 0, with the kernel k(s, x) = e™%, is
b
.m ®) o
(C) s2+b2 (D) SZ b2

124, A series of sine and cosines of multiples of x; which will represent x+x2in the interval

—m < x < 7 then },;,_ 1 =1 + +.. will be equal to
1 2
(A) 2 (B) Y
11'2 Tl'z
(©) 7 ES
125.  Ifr? = x? + y? + z2, the value of grad r"
(A) r"—2 @2
(C) n(n — 2)r" -3¢ Mo
126. Which of the following is Lagranges Equation of motion for a conservative system
d (dL oL oL oL
2t (34:) ~ 90 = ®) 5 (550) ~ 54 = 0
aL aL aL
(C )—(a—qk) a_qk_o (D )_(a_%)+a_%—°
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127.

128.

129.

130.

131.

132.

133.

134.

135.

If the Langrangian L = %mkz - %kxZ then the Hamiltonian is

(A) p,+ %kx2 (B) p% + %kx2

@ i (D) p2 + 2=

Under canonical transformations Poisson’s bracket is

(A) Zero (B) Variable

(C) Covariant @) 1nvariant

For one dimensional oscillator the representative point in 2D phase space trace
.An ellipse (B) A parabola

(C) A hyperbola (D) A straight line

Hamilton’s Principle function and Hamilton’s characteristic function related a
@s=w-Et B)S=W

(C)S =W +Et D)s= ¢

For a charged particle in an electromagnetic field, the canonical momentum is
@nmv + %A (B)%mvZ +%A

(C)mv— 14 (D) ;mv? —24

According to special theory of relativity, the speed v of a free particle of mass m and total
Energy E is

A =cl1-m B)v= |2 (1+25
.v=c/1—(%ﬂ)2 (D)v=c(1+mfcz)

If the generating function has the form F = F (qk, Pk,t), then

.pk::_;c'Qk::_;{ (B)pk:;_;chk::_;c
(C)pk::_;c'Qk:_:_;{ (D)pk:_:_;chk:_:_;c
The transformation Q = q% cos Bp and P = q* sin fp is canonical if
Wa=3,8=1 Ba=-3,8=2
@c:=; =2 Da=-2,p=1

Which one of the following is not true in case of Poisson’s brackets for angular momentum
components (J,.J,,J ;)

(A) Jx, Px] =0 B) Uy P,] = _Py
© [Jy 1] =1« @.j.=-,
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136.

137.

138.

139.

140.

141.

142.

143.

144.

Which of the following is a canonical transformation

@)q = V2PsinQ,p = V2P cosQ (B)q = V2Psin?Q,p = V2P cos?Q
(C)q =2PsinQ,2P cosQ (D) q = V2P cos?Q,p = V2Psin?Q

The Hamiltonian of a relativistic particle of rest mass m and momentum p is given by

H =,/p? + m? + V(x) in units in which the speed of light ¢ = 1. The corresponding
Lagrangian is

@L=-m/1+:2-V(x B) L = —-mV1 —i% — V(x)
(C) L =+/1+mi? —V(x) (D) L = ;mi? - V(x)
The velocity Vi of i particle in a system of generalised coordinates is;
ar, arl arl
(A) Tk- 1,,,, “qi+ 3, B) Yk=154, +
R ari arl arl
@i 1aq “qrt+ (D) Xk=17; qk +

In a circuit of inductance ‘L’ and capacitance ‘C’ the capacitor is charged to ‘g’ coulombs and
the current flowing in the circuit is i’ Amperes. Then the Lagrangian of this circuit is;

.Lﬁ+——0 (B)ﬁ+——0

() L1 s+ L =0 (D)L—+——1

dt? dt?

A particle of mass ‘m’ moves under the action of central force whose potential is V(r) = Kmr?

(K>0). Then the period ‘T’ of circular motion is

2w
.ﬁ (B) ﬁ
(©) 7= ®) 7
According to principle of least action
(A)f (H + L)dt = (B)f (H - L)dt =
tz _ —
@:. ft1 (H+L)dt=0 (D) Af (H - L)dt =

An example of stable equilibrium is
(A) A book placed flat any where on a table (B) An egg standing on one edge
.A pendulum in a rest position (D) A loaded spring in motion

The freely falling body deviate from its true vertical path due to coriolis force. The deviation is
always towards

(A) North (B) South

.East (D) West

A particle moves in a circular orbit about the origin under the action of a central force
2= r%f' If the potential energy is zero at infinity then the Kinetic energy of the particle is ;
a)-% o2

(C) Zero D) +35
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145.

146.

147.

148.

149.

150.

151.

152.

One of the following is not an equation of motion in Poisson bracket form;

(A) F = qi, 9k = [qi, H] (B) F = Py, P, = [Py, H]
—7 j= 9 _ y _ OH
@r=Li= (D)F=H,H==

In a coupled system when both masses have equal and opposite displacements. Then the
equation for anti-symmetric mode is;

@A) [ ®B) |-
(C) K+K1 . K+2Kr

The length of the space shuttle is ‘l,” in an inertial frame. When it is moving with a speed
comparable to ‘c’ the change occurs in perpendicular direction to its direction of motion is

(A) 2 = @ Zero
1-Z

(C) =*=sin @ (D) Infinity
1475

A certain process requires 10 sec to occur in an atom at rest in laboratory. When the atom is
moving with a speed of 5 X 10’ m/s. How much time will this process require to an observer in
the laboratory.

(A)2X 10~ sec @10 sec
(C)2X 10 sec (D) 10 ' sec

. . . 1 1 . oo
A particle of mass ‘m’ moves in a potential v(x) = Emoozx2 + Emuvz where x is the position

coordinate v is the speed and w and u are the constants. The canonical momentum of the
particle is

(A)p=mv(1+p) B)p = mv
(C)p = mpv @p-rmva-p

Five equal charges, q, are situated at the corners of a regular 5-sided polygon. What is the net
force on a test charge Q at the center ‘r’ units away from each corner?

@F = (119) B)F=5(——1)

4mg r2 4mg r2

@ zero (D) infinity

The flux of electric field through a sphere of radius r, when a point charge q is situated at its
center is

1 ¢q q
(A) 4me r_2 (B) 4meg

q q
© =

The electric field in some region of a sphere of radius R with its centre present at the origin is
given by E = cr5f. Then, the total charge enclosed in the sphere will be

(A) —4meg R (B) —4mgyR7?
(C) 4meycRS @) 4nse,cR?
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153.

154.

155.

156.

157.

158.

159.

160.

The flux of electric field through a sphere of radius r, when a point charge q is situated at its
center is

1 q q
(A) 41[80 I'_Z (B) 4-1'[80

q q
© oo .g

The electric potential inside an enclosure completely surrounded by conducting material, when
there are no charges left over inside

(A) varies from point to point inside (B) remains zero at every point inside
(C) remains constant at every point inside .fluctuates continuously

The electric potential at a point r, far away from an electric dipole goes like

1 1
(A) - B) =
1 1
= (D) =
The magnetic field at the centre of a square loop of side R, carrying a steady current I is given
by
\/illol 2\/?[101
(A) mR . nR
2v2pol V2ol
(C) nR (D) 2nR

A steady current I flows down a long cylindrical wire of radius R. The current is uniformly
distributed over the outside surface of the wire. Then, the magnetic fields inside and outside of
the cylindrical wire are respectively

.0forx<Rand:—1‘T’i$forx>R (B)Oforx>Rand%$forx<R

(C)Oforx<Randi—‘;:$forx>R (D)Oforx>Rand%$forx<R

A radio wave has a maximum electric field intensity 10~* Vm™! on arrival at a receiving
antenna. The maximum magnetic flux density of such a wave is

(A) Zero (B)5.4 x 1078T

@3.3 x 107 13T (D) 4.8 x 10712T

In the case of reflection and refraction of light at the dielectric interface

(A) Normal components of D and B are continuous

(B) Normal components of D and tangential component of B are continuous
(C) Tangential components of D and B are continuous

.Tangential components of D and normal component of B are continuous

A rectangular dielectric slab is placed in a uniform electric field so that it has polarization
P= poi{. The induced volume charge density p and the surface ¢ on the upper surface are

given
(A) p =Py, 0 = Po @po=00=p
(CO)p=po,0=0 Dp=0,06=0

AIR - MASTER ] 7 P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


161.

162.

163.

164.

165.

166.

167.

168.

The interaction energy of two dipoles of moments p;and p, is given by

1 (A' -_)(ﬁ -ﬁ) 3 - = 1 p .‘) 3 - - — >
(A) = 4me, [% t (P1. pZ)] B) - 4me, [pifz T (P1.D)(P1- r)]
1 [P1Pz _ 3 (= oy 2 1 [EHP2D) 3 o -
.4“60 [ 1rs 2 — = P1-D(P1- r)] D) oo [—1 = 2o — = (p1. pz)]

The total charge (Ze) of an atomic nucleus is uniformly distributed within a sphere of radius a,
the potential at a distance r (r < a) within the nucleus is

@v - 2[;_3(_)21 B)V=— EE‘%(‘)Z]

- 4meEy a a 4meEy a a
1 Ze[3  1(r\? Ze[3 | 1/r\?

(C)V—4ne0:[z+z(;)] (D)V—:[z+z(;)]
The magnetic scalar potential @, for a point on the Z-axis of a circular loop of radius a is given
by

_ bol Z _ Rl Z
.(pm - 7 1 - /(az+zz)] (B) (pm - T [1 + /(32+Z2):|

2 Z 2 Z

© em =1 [1 B \/(aZ+ZZ)] D) om =51+ \/(aZ+ZZ)]

With A and ® being vector and scalar potentials respectively, Lorentz and Coulomb gauge
conditions are respectively

.V.K+ uoe(,%:OandV.K =0 (B)V.A — uoeo%=0andﬁ/_\) =0
(C)V.A + u060§ =0andV.A = poj D)V.A + u060§ =0andV.A = —p,j
For good conductors skin depth varies inversely with _____ power of frequency
@1t (B) One

(C) Two (D) Three

LASER are light sources which give almost perfectly parallel beam of high intensity. If a 2K
watt laser beam is concentrated by a lens into cross-sectional area about 10"®cm?then the
value of pointing vector

@: < 101 W/m? (B) 2 x 1012 W/m?
(C) 2 x 1013 W/m? (D) 2 x 10* W/m?

For a plane electromagnetic wave defined by E, = a cos wx cos wct

Hy = — sin wx sin wct, the instantaneous value of pointing vector will be
i . 1 5 . .

(A) a? sin 2wx sin 2wct .Z a? sin 2wx sin 2wct

(C) —a? sin 2wx sin 2wct D) — %az sin 2wx sin 2wct

In Rayleigh scattering, the amount of scattered light is proportional to
1 1
A) 55 @;:

©% D) 5=
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169.

170.

171.

172.

173.

174.

175.

The electronic polarizability a. of a monoatomic gas atom is

(A) 4mey (B) 4megR

(C) 4meyR? @) 4ne, R3

If €, and o denote dielectric constant and polarisability of a medium, the relation among them
&1 _ Nog

&+2 3¢

(A) Lorentz relation (B) Cauchy relation

(C) Einstein relation @ Clausius- Mosotti relation

The region between two concentric right circular cylinders contains a uniform charge
density p. A and B are constants. Then potential V is given by

_er? _er?
(A)-"-+AIn2+B @-"_+Amnr+B
2 2
(C)%—AInr+B (D)%+AIn2+B

The electric field of a wave propagating in the x-y plane, with wave vector k making an angle
of 30° with the x-axis is

(A)E=E0cos(wt—§kx+ky) .E=E0C05(wt—ﬁkx—lky)
2 2 2
(O)E = E( cos(wt — kx — Ky) D)E = E, cos (wt+gkx+%ky)

The wave nature of material particles was experimentally established by
(A) Millikan’s oil drop experiment

(B) Davisson and Germer experiment

@). J. Thomson discharge tube experiment

(D) Photoelectric effect

If ¥(r, t) is the wave function of a quantum particle, then |¥(r, t) |? has the dimensions of

Time Length
A) Cengans B) fimer3
(C) [Length]? @) Length] 3

Consider the following statements:

I.  The energy operator in quantum mechanics is represented by E = ib%

II. The linear momentum operator in 1D in quantum mechanics is represented by p = —ib %

}-)sz

III. The Hamiltonian operator in quantum mechanics is represented by H = o

+ V(r,t)
Which of the above statement(s) is/are correct?
(A) I only (B) II only

@)1 ana 1 (D) I, 1T and III
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176.

177.

178.

179.

180.

181.

182.

Which of the following in quantum mechanics are formally identical to Newton’s equations of
motion in classical mechanics?

(A) Equation of Born’s approximation .Equations of Ehrenfest’s theorem
(C) Schrodinger’s equations (D) Equation of Fermi golden rule
The degeneracy of energy eigen value of a free particle is

(A) one .two

(C) three (D) four

Imagine a proton of mass 1. 6x10~27kg is confined in a nucleus of cubical shape of length of
10~1*m. Then, the minimum energy of the proton is

(A)7.75X10712] (B)8.75X10712]
@o.75x10713) (D) 10.75X 10713

The normalized eigen functions of a harmonic oscillator with their usual notations are given by

2,2
o

A P,(x) = T © 2 H,(x),n=20,1,2,...

1 _
2

.lIJn(X) = ﬁ e 2z Hy(ax),n=0,1,2,...

1
(24 2

(C) lIJn(X) = :m_ e_azszn(x)l n= 01 1; 2I

1= —ax?

(D) P, (%) = ﬁze 2 H,(ax),n=0,1,2,...

[

For a particle scattered by a potential step, the sum of reflection and transmission coefficients
is equal to

(A)0 @1

62 (D)
The value of the commutator [X, %] is

(A)O 3B)1

@-1 (D) o

A stationary state is said to be a bound state when its corresponding wave function {(r)satisfies
the condition

@)im ¥ (1) = 0 (or) lim|Y(r)|> = 0 (B) lim (r) = 1 (or) lim [§s(r) | = 1
(C) lim §(r) = 0 (or) lim [ (r)|* = 1 (D) lim (r) = oo (or) lim [ (r)|? = oo

183. The normalized wave function of P (x) = Ae=* gver the domain » < x < o, A and abeing

constants is given by

W ¥ = (5 )‘1 (B) Y(x) = (Z—f)%e‘“z
© 900 = (B e @00 - () et

AIR - MASTER ] 10 [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


184.

185.

186.

187.

188.

189.

190.

Which of the following statements is not correct?
(A) The eigen values of Hermitian operators are real.
@) 1ty represents a normalized wave function of a state of a system, the expectation value of

an observable A is given by (4) = fj;o PrA%Y dr.

(C) Operators having common set of eigenfunctions commute.

©

(D) If [A, B] = iC, then the uncertainty relation of A and B is given by (AA) (AB) > >

A particle of mass ‘m’ bounces vertically and elastically on reflecting hard floor. Thepotential
of the particle is defined as V(z) = mgz for z>0 = +oco for m<0.

If g’ is the gravitational acceleration, ‘o’ is the parameter and ‘A’ is normalization constant,
according to the variation method, which of the following represents the ground state wave
function

(A)A(z—1) e ™ B)A(ax+1)e
@Arze (D) Aze~(*+1)2
A particle of mass ‘m’ moves in a one dimensional potential well defined by

0for—2a<x<2a
V() ={ooforx > 2aand x < —2a
Vofor—a<x<a

If V, is treated as the perturbation, then, the first order correction to the energy of ground state
A Vo (1+3) ®)Vo (;-3)

©Vo(1-3) @, (;+3)

Condition for the validity of Born approximation is

@ (2 - 1)vmdr| « 1 ®B) 5|7 (e 2 + 1)vrydr|* « 1

el e?

ikr 2
V(r) dr| <1

r

© S|l V(r)dr|2 <1 @)z |y’

r

The wave function of a particle is given by ¥ = ¢ exp(—xzaz) ,—00 < x < +oo where ¢ and a
are constants. The probability of finding the particle in the region 0< x < oo

(A1 ®B),

1 1
©?3 D)y

The ladder operators of angular momenta are defined by

@, =L, +iL&L =L, —ilL, (B)Ly = Ly —iL,&L_ = Ly +iL,
(COL, =L, +iL&L_ =L, —iL (D)L, =L +iL&L_ = L —iL,

If L, and L_ are angular momentum ladder operators, the value of% (L_LLy +L_L,)is
(A) L% +12 @ -12
OL-L, D)L+L,
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191.

192,

193.

194.

195.

196.

197.

Ifj; and j, are angular momenta of two non-interacting systems and J represents the sum of j;
and j, then

(A) j% and j3 commute with j? only (B) j2 and j4 commute with j, only
@)i: and j2 commute with both j?2 andj, (D) j?, and j5, commute with both j? and j,

The energy of a particle constrained to move in a cube of side a is given by

2
E= ﬁ (n% + nZ + n?). If n,, n, and n, may have either values out of 1, 2, 3, thedegree of
degeneracy of this energy level is

A1 B)3

@s D) 9

The differential scattering cross section (@) in center of mass frame is
£(0)|?
(A) o(8) = |a)2 K" (B) 6(8) = |A[?|£(8)|?

@) = 1f(0)? (D) 6(8) = |A||f(0)|

The Einstein coefficient B, for an electron moving in a central potential is

[forls,n =1,l = 0and for2p,n=2,1l = 1]

4n?e? 2 4n?e? 2
@ <21r|10 >| (B) —55 < 10[r[21 >|
(©) =€ 1< 10|r[21 > 2 D) ¢ | < 21)r(10 >|?

3h2 r on2 r

The Hamiltonian due to the interaction of a particle of mass m, charge ¢, and spin S witha
magnetic field pointing along the z-axis is H = — (:1—2) S,. Which of the following is not correct?
(A) [Sy H] = ihwS, @[S, 1] = ihwS,
©) [S,H]=0 D) [S,, H] = —ihwS,

Suppose an electron is in a state described by the wave function

P = i® 5in © + cos 0) g(r), where fooolg(r)lzrzdr =1,

1 (e
Van
Then, the expectation value of L, is

(4)0 (B)3h
2 3
@:n (D) 3h

Y 2
Given H = ;)_u + V(r), then ¥, (Eyy — Ep)|Xmn|? [Where xp,, = < m|x|n > 1] will be

h2 h2
A+ (B) -
h2 h2
© n ~on
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198.

199.

200.

201.

202.

203.

204.

205.

The internal energy of a real gas is

(A) The KE of molecules

@) The sum of KE and PE of molecules due to their mutual forces of attraction
(C) The PE of molecules

(D) Equal to that of an equal amount of ideal gas

The increase in the internal energy of a thermodynamic system undergoing a change of state is
equal to

(A) The heat transferred into the system

(B) The sum of heat transferred into the system and work done by the system
.The difference of heat transferred into the system and work done by the system
(D) The work done by the system

Which of the following statements is (are) correct?

I. Heat energy is a path function

II. Work done is a path function

III. Internal energy is a path function

(A) I only (B) II only

@)1 ana 1 (D) I, IT and III
The net change in the internal energy of the universe is always
.Zero (B) Infinite

(C) Positive (D) Negative

The statement that “heat cannot flow of itself from a colder body to a hotter body”’ is made by
(A) Clausius (B) Lord Kelvin
@) Max Planck (D) Kelvin-Planck

According to the third law of thermodynamics, at absolute zero temperature, the molecules of
the system are in perfect order and its entropy

(A) Is always positive (B) Is always negative

(C) Is always zero .Tends to zero

The equation of state for a real gas is (P + %) (V —b) = RT. Then, Cp — Cy is

2a a
@=(1+55) ®) R (1+7)
2a 2a
©R(1+%) (0) R (1+7)
The differential change in thermodynamic potential Helmholtz free energy is given by
(A) dF = —SdV — PdT (B) dF = PdV + SdT
@)dr = -pPdv — sdr (D) dF = —VdP — TdS
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206.

207.

208.

209.

210.

211.

212,

Which of the following is not an example for second order phase transition?
(A) Transition of liquid helium I to liquid helium II at lambda point (2.19K)

(B) Transition of a superconductor into an ordinary conductor
@ 1ransition of ice into water at temperature 0°C and pressure latm
(D) Transition of a ferromagnetic material to a paramagnetic material at Curie temperature

When four indistinguishable particles are distributed in two identical compartments, the total
number of microstates is

(A) 4 (B) 6

(© 8 @6

The number of microstates corresponding to any given macrostate is called
(A) Experimental probability .Thermodynamic probability
(C) A priori probability (D) Conditional probability

In a canonical ensemble, a system S of constant volume is in contact with a huge reservoir R.
Then,

(A) S can exchange only particles with R

.S can exchange only energy with R

(C) S can exchange both particles and energy with R
(D) S can exchange neither particles nor energy with R

A vessel of volume V contains a perfect gas with N molecules. The gas is at equilibrium at a
temperature T. Then the entropy S of the perfect gas can be expressed as

(A) S = {g Nk + In [h—"s (ankT)%]}Nk (B) S = {; + Nkin [% (ankT)%]}Nk

(€) S = {g Nk — In [h—"s (ankT)%]}Nk @:s - {g + In [% (ankT)%]}Nk

A gas of N particles enclosed in a volume V is in equilibrium at temperature T. k is Boltzmann’s
constant. For the Maxwell-Boltzmann distribution of the particles, the Sackur-Tetrode
equation is

%(Zn}rlr;kT)g]}Nk .S _ {g + In [% (anrlr;kT);]} Nk

> (Z”,'l’;”)%]} Nk D) S = {g Nk + In [% (2”,’1';’”)%]} Nk

The number of conduction electrons per c.c. is 6. 96 X10%%in metal A and 0.87 X102 in metal
B. If Fermi energy of conduction electrons in Be is 12.35 eV, then, the Fermi energy in Cesium
will be

(A)39.30 eV @19.40ev
(C) 59.30 eV (D) 69.40 eV

(A)s={§+ In

C)S = {; — Nkin
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213. In which of the following processes Clausius- Clapeyron equation is not applicable?

(A) Melting point of solids .Isobaric process
(C) Boiling point of liquids (D) Regelation of ice
214. If the degree of freedom of a gas is ‘n’ then the ratio of Cp and CV is
1 2
(A)1+5- @1+
1 2n
©1+, D)zt

215. Two ends of a rod are kept at 1270 C and 2270 C. The change in entropy is 20 cal/ K. Then the
amount of heat flown in the rod is

(A) 200 cal (B) 400 cal
@) 2000 cal (D) 4000 cal
216. When applied to solar radiation, Planck’s law reduces to Wien’s law in the
@ Uitra violet region (B) Microwave region
(C) Infra red region (D) Visible region

217. The phase space consists of ‘n’ position and ‘n’ momentum co-ordinates. Then the total number
of freedom of the group is

(A) nf @2t
(C) nf/2 D) f

218. If four distinguishable particles are to be arranged in two phase cells. Then the possible number
of macro and micro states are respectively

(A) 4,16 @5, 16
(©) 4,18 (D) 5,18

219. If ‘Ef and ‘K’ represent Fermi energy and Boltzmann constant respectively, then Fermi
temperature T; is

(A) KE L
k
Kk
OF (D) /K
220. The probability of occupation of an electron in Fermi level is ‘1/2” if
(A) T=0K @r>0K
(OT<0K (D) T=1
221. The condition for chemical potential in equilibrium state is
oF oF oF oF
A) 3Ny = an Ny Ny
(C)dN, = dN, D)N; =N,

222, A particle under Brownian motion at 27 0C has rms speed 1 cm/sec. Then the mass of the
particle is (k = 1.38 X 10-16 erg/K)

@1.24 X103 gm (B) 1.24 X 103 kg
(C)1.24 X 10" gm (D) 1.24 X 10 kg
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223.

224.

225.

226.

227.

228.

229.

230.

231.

232.

233.

234.

The 9’s compliment of 566 is

(A) 432 (B) 444

@433 (D) 555

Which of the following is a weighted code?

(A) Gray Code (B) ASCII

.BCD code (D) Excess-3 Code
Which of the following logic family is the best optimum family to be used in digital system?
(A) Standard TTL (B) High Speed TTL

(C) Schottky TTL @) 1.ow power Schottky
Which of the following transistor has high current gain?

@siT (B) MOSFET

o ur (D) FET

A FET is a better chopper than BJT this is because it has

(A) Higher series on resistance (B) Lower input current
.Higher input impedance (D) Lower offset voltage
If ADM = 3500 and ACM = 0.35, then CMRR is ?

(A) 1225 B)lor3

@)so a8 (D)1 and 3

A certain non-inverting amplifier has Ri of 1 kQ and Rf of 100 kQ. Then the closed-loop voltage
gain is ?

(A) 10000 (B) 1000

@101 (D) 10

If V1 and V2 are the two input voltages of an ideal op-amp then the output voltage VO is.
(A) VO=V1-V2 (B) VO= V1+V2
@vo=A (Vi+V2) (D) VO= A (V1-V2)
Which of the following referred as reverse voltage transfer ration?
(A) hye (B) hie

@h.. (D) hye

Standard Intermediate frequency used for AM receiver is

(A) 455 MHz @455 KHz

(C) 455 Hz (D) All of the above
Modulation Index of wide band FM system is ?

(A) =0.5 (B) <1

(C) Zero @-1

Which of the following is a junction less diode?

(A) Zener diode (B) Solar cell
.Gunn diode (D) Tunnel diode
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235.

236.

237.

238.

239.

240.

241.

242,

243.

244,

Which of the following ADC has conversion time independent of amplitude of the analog signal?
(A) Flash comparator ADC @ Successive approximation ADC
(C) Dual slope ADC (D) Counter type ADC

A 12-bit A/D converter applied with an input signal in the range of 0 to + 10 volts. Then the
voltage corresponding to one LSB is

(A) 0.012 V @)o.0024v
(C) 0.833V (D) 0.24V

If the resolution of an D/A converter is nearly equals to 0.4 % of its full scale range, then it is
bit converter.

(A) 4 bit @s Bit

(C) 16 Bit (D) 32 Bit

Which of the following A/D converter has the highest speed of conversion?
.Flash type A/D (B) Successive approximate A/D
(C) Dual slope A/D (D) Ramp type A/D

The race condition can be avoided with the following flip flops

@ Master Slave JK flip flop (B) JK flip flop

(C) D flip flop (D) Clocked RS flip flop

A differential amplifier at the input stage of an Op Amp is used to provide very high
.Open loop gain (B) CMRR

(C) Slew Rate (D) Bandwidth

If the gain of an ideal amplifier decreases, then the bandwidth ?

.Remains unaltered (B) Decreases

(C) Remains zero (D) Increases

Which flag of 8085up flag register is being affected, when HL the contents of 0505H is
decremented to 0000H?

(A) Z flag (B) C flag
.No flags affected (D) P flag

If a normal hydrogen molecule is 2.2A in diameter when both electronics are in the most stable
Bohr orbit, the size of the hypothetical molecule in which the electrons were each in the third
Bohr orbit

(A)4.4A (B) 6.6 A
(C)8.8 4 @ 19.54

The first ionization potential of K is 4.34 eV, the electron affinity of Cl is 3.82 eV and the
equilibrium separation of KCl is 0.3 nm. The energy required to dissociate a KCl molecule
into a K and Cl atom is

(A) 8.16 eV (B) 8.62 eV
@4+.28ev (D) 4.14eV
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245.

246.

247.

248.

249.

250.

251.

The isotopic shift (A, — Ay) for the Hg line of the Duterium compared with Hydrogen

(&) -2 @ (*7")
(©) ~Au (2 (D) Ay G 2)

The line broadening of spectral line is not due to
(A) Doppler effect (B) Uncertainty principle
(C) Pressure @ Rayleigh criterion

The total number of Zeeman components observed in an electronic transition >Ds /s - 2p; /Zof

an atom in a weak field is
(A) 4 @12
©)10 D)6

A He-Ne laser operates by using two energy levels of Ne separated by 2.26 eV. Under steady
state conditions of optical pumping, the equivalent temperature of the system at which the ratio

of the number of atoms in the upper state to that in the lower state will be %, is approximately
(the Boltzmann Constant K = 8.6 x 10~ °eV /K)

@ 10‘k (B) 10K
(C) 10° (D) 101°K
For the energy level diagram given, if the pump rate R is 10%° atoms cm™3s™! and the decay

routs are as shown with 7,; = 20 ns and 74 = 1 us the equilibrium population of states 2 and
1 are represented by

R A \T21

P

(A)10%em3& 2 x 102em 3 @2 x 102cm—3&10%%cm 3
(C)2x102cm3&2 x 10°cm™3 (D) 0 cm™3&10%%°cm 3

he minimum Kinetic Energy at which a neutron in a collision with a molecule of gas whose
reduced mass u and bond length r can lose energy by exciting molecular rotation

h2 h?
(A) 5 = =
h2
(C) pr? D)%

The resonance frequency of a free electron placed in a magnetic field of strength1.5 T. Given
g =2.0023.

(A) 4.2x 10° Hz @4+.2x 10" Hz
(C) 4.2x 10° Hz (D) 4.2x 10" Hz

AIR - MASTER ] 18 [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


252.

253.

254.

255.

256.

257.

258.

259.

260.

The wavelength of the photon emitted when the Hydrogen atom goes from n = 10 state to the
ground state is

99Ry Ry

(A) 100 (B) 100
100 100

.99R,, (D) 99R,

Which of the fallowing parameter is same for all hydrogen like atoms and ions in the same
energy state

(A) Radius of the orbit (B) Speed of electron
(C) Energy of electron .Angular momentum of electron

According to Bohr’s theory, the velocity of electron in the first excited state of hydrogen atom
is

c U1
(A) 37 (B) 13-
c V1
©) 5 D) 74
The average time-interval for which the field remains sinusoidal is known as
(A) Spatial coherence .Temporal coherence
(C) Coherence length (D) monochromocity

If the principal quantum number and azimuthal quantum number in the relativistic model of
the atom are ‘3’ and ‘1’ respectively , then the magnitude of the semi-minor axis ‘b’ in terms of
semi major axis ’a’ is

2

A== @n»-:

(C)b=3a MD)b=+3a

The nuclear spin of Bismuth atom is 9/2 , Then the number of levels in which the term 2,_ of
2
Bismuth will split due to I-]J interaction are

@ (B) 4

02 M1

In rotational Raman spectra the selection rule for diatomic molecule in ground state
(A)AJ=%1,0 B)AJ=0,+1

@:r)-0,12 MAJ=%3

Which one of the following molecules does not exhibit a rotational spectrum

(A) CO @ .

(C) HBr (D) HC1

The vibrational energy of a molecule in its ground state is

(A) 0 @, hv,

(C)5 ho, D) hd,
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261.

262.

263.

264.

265.

266.

267.

268.

269.

The energy interval between consecutive levels J and J+ 1 of a fine- structure multiplet is
proportional to

@, +1 (B)J
©)J-1 (D) J?
Two levels in an atom whose number spin I= 3 , have the designations 25, and 2p,. The

2 2
expected number of components in the hyperfine structure , the corresponding spectral line are

@ (B) 4

(O] D)8

Pure rotational bands between two rotational levels occur in

(A) Visible region (B) near Infra red region
(C) Ultra- violet region @) microwave region

An electron in a particular state of hydrogen atom has a magnetic potential energy of about 10
23 J. If the magnitude of spin magnetic moment of the electron is of the order of 1 Bohr
magneton. Then the magnitude of magnetic field acting is approximately

(A) 0.5 Tesla .1 Tesla
(C) 1.5 Tesla (D) 0.75 Tesla

The number of photons emitted per second from a 1 watt laser operating at 488 nm is
approximately (h = 6.6 X 10-* J-sec, C = 3 x 10 m/sec)

@:2.46 x 101 (B) 2.46 x 10'*

(C) 2.46 x 10 (D) 2.46 x 10'¢

In an N type semiconductor, the position of the Fermi level

(A) Is lower than the centre of energy gap

(B) Is at the centre of energy gap

.Is higher than the centre of energy gap

(D) Can be anywhere depending upon the concentration

The effective mass of localized electron is

(A) Zero (B) Unity

.Infinity (D) Neither Zeronor Unity

In a ferromagnetic material,if the applied magnetic field is gradually reduced to zero, the
polarization still left is known as

.Remnant polarization (B) Coercive polarization

(C) Zero polarization (D) Positive polarization

Hysteresis loop in case of magnetically hard materials is more in shape than
magnetically soft materials.

(A) Circular (B) Triangular

.Rectangular (D) Trapezoidal
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270.

271.

272.

273.

274.

275.

276.

2717.

278.

279.

Thermal conductivity in polymers increases with

.Increase in crystallinity (B) Decrease in crystallinity
(C) Either (D) None of the above
Characteristic of covalent bonds present in metallic structure is that they are
(A) Localized (B) Permanent

(C) Temporary .Delocalized

The superconducting state is perfectly _  in nature

.Diamagnetic (B) Paramagnetic

(C) Ferromagnetic (D) Ferrimagnetic

The superconductivity is due to

(A) All electrons interact in superconducting state.

(B) All electrons jump into nucleus at 0° K.

.The crystal structural having no atomic vibration at 0°K
(D) Some electrons jump into nucleus at 0° K

The property of Superconducting used in high-speed trains is

(A) Meisener effect (B) Josephson tunneling
.Magnetic levitation (D) Zero resistance

At low temperatures, the electrical resistivity of metals varies as

AT (B) T

(€)1 @’

Which alloy exhibits type-1 superconductivity?

.TaSiz (B) Niobium-titanium
(C) Niobium-tin (D) Boron-silicon

Characteristic of covalent bonds present in metallic structure is that they are

(A) Localized. (B) Permanent.

(C) Temporary .Delocalized

In optical frequency range which of the following polarizability is considerable
.Electronic polarizability (B) Ionic polarizability

(C) Orientational polarizability (D) Dipolar polarizability

In Drude model electron transport heat because

(A) The electrons thermalized at the high temperature

@ The electrons thermalized at the local temperature of the last collision
(C) The electrons thermalized at the high temperature

(D) The electrons thermalized at the high temperature of the each collision
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280.

281.

282.

283.

284.

285.

286.

287.

The co-ordination number and nearest neighbour distance of Nacl crystal are

a a
(A) 8, (B) 6, 7

V3 a
©) 12,7 a @,

In an orthorhombic crystal a lattice plane cuts intercepts of lengths 3a, -2b, 3c/2 along three
axes, where a,b,c are vectors of the unit cell. Then the Miller indices are

(A) (2,3,4) (B) (3,2,4)

@3 9 D) (2,4,3)

Which of the following is not a property of reciprocal lattice?

(A) Every reciprocal lattice vector is perpendicular to a lattice plane

.The volume of a unit cell in the reciprocal lattice is directly proportional to the volume of
a unit cell of the direct lattice

(C) The direct lattice is the reciprocal of its own reciprocal lattice
(D) |G| is inversely proportional to the spacing of the lattice plane.

The spacing of planes in a crystal is 1.2 A and the angle for the first order Bragg’s reflection is
30°. Then the energy of the X- rays is(h = 6.62 X 10" ergs-sec, C= 3X 10 3 m/sec)

@16.55 X 10 ergs (B) 16.55 X 10 6 ergs

(C) 16.55 X 10 %ergs (D) 16.55 X 10 ! ergs

An externally applied electric field converts the cholesteric liquid crystal into a,
.Nematic type (B) Smectic type

(C) Lyotropic type (D) Cholesteric type itself

If ‘m’ and ‘M’ are the masses of light and heavy atoms then the forbidden frequency band of
solids disappear at k= + % if,

(A)ym>M (B)m <M
@n-M (D) m = M/2
The effective mass of an electron moving in a periodic lattice is
* h2 . d2E
@ - (B)m; =h?_~
arZ

2
©)m; = h2e

£ (D) m; =m,

A current of 10 mA flows through a n- type Ge strip of 1 mm thick and 1 mm wide placed in a
magnetic field ‘B’. If the Hall voltage produced inside the strip be 1 m V, then the value of ‘B’
is

(A)1T @o.11
(©0s5T (D) 0.01T
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288.

289.

290.

291.

292.

293.

294.

295.

296.

297.

‘barn’ is the unit of

(A) Magnetic moment (B) Pairing energy

(C) Dipolemoment .Electric quadrupole moment
How does the neutron to proton (n/p) ratio of nuclei change after p* decay ?
(A) Decreases .Increases

(C) Remains unchanged (D) Independent of any decay

On bombardment of U** by slow neutrons, 200 MeV energy is released. If the power output of
atomic reactor is 1.6 MW. The rate of fission is

(A) 5X 10/ sec (B) 5X 10/ sec
(C) 8 X 10°/ sec @5 X 10/ sec

A positron and an electron with negligible Kinetic energy annihilate each other to produce two
photons. Their frequency is (me = 9.1 X 10" kg, C =3 X 10 ®m/sec, h = 6.6 X 10~ J-sec)

@ 1.2 X10* hertz (B) 0.6 X102° hertz
(C) 2.4 X10* hertz (D) 3.6 X10* hertz

In Uranium radioactive series the initial nucleus is 233U and the final nucleus is 23$Pb . In this
process the number of a — particles and p — particles emitted are respectively

(A)6,8 @:s. o
(C) 16,6 (D) 32,12

According to the collective model, moments of inertia of nuclei can be determined from the
energies of their

(A) Vibrational states (B) Spin states

(C) Rotational states .Rotational-Vibrational states
The parity of deuteron is

(A) Odd @cEven

(C) Zero (D) Infinity

According to Heisenberg, nuclear forces were

.Exchange forces (B) Heisenberg forces

(C) Wigner force (D) Newton force

The average binding energy per nucleon of “He is

(mpe =4.002643 amu, m, = 10007825amu, m, = 108665 amu)
@7.07Mev (B) 7.86MeV
(C) 7.40MeV (D) 28.86MeV

The radius of mass number 125 has radius 6 fermi. What is the radius of the nucleus having
mass number 64

(A) 2.23 fermi (B) 2.52 fermi
@) 4.80 fermi (D) 4.92 fermi
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298. In the P decay process, the transition 2* — 3%, is
(A) Allowed both by Fermi and Gamow-Teller selection rule
(B) Allowed by Fermi and but not by Gamow-Teller selection rule
.Not allowed by Fermi but allowed by Gamow-Teller selection rule
(D) Not allowed both by Fermi and Gamow-Teller selection rule

299. Which of the following is a true statement about the nuclear binding energy in the semi
empirical mass formula mode?

-2
(A) The coulomb term is proportional to A3

@) The asymmetry term is proportional to (A — 2Z)% /A

1
(C) The area term is proportional to A3

(D) The asymmetry term is proportional to (A — 22)?

300.  Use the nuclear model to determine the ground state spin of $5Zn
(A) 372 B) Y2
(01 @52
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